Arithmetic Operations

ab+ac=a(b+c)
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Distance Formula
If B=(x.y)and P, =(x,.y,) are two

points the distance between them is
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Beware ... You will want to avoid these common errors!

Common Algebraic Errors

s Ervor Reason/Correct/Justification/Example
>
—=0 and — = Division by zero is undefined!
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-3 =9 -3"=-9. (-3)" =9 Watch parenthesis!
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n More general versions of previous three
(x+a) =x"+a" and Yv+a=x+2a errors. :

2(x+1) =2(2 +2x+1) =25 + 4x +2

2(x+1)" = (2x+2) (2x+2) =4x> +8x+4

Square first then distribute!

. . See the previous example. You can not
(2x+2) =2(x+1) factor out a constant if there is a power on
the parethesis!
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